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1 FRI7ILLHETS
FRI7IL t=50 ZHIFEASEEY (13) 193 | m |ZBIA—/SLA4@D (50.5mx 3. Tm)+(61. Tmx 5. Tm) =538. 54nf 1192.9497| i
R1.5 ((Bmx3m-(1.5mx1.5mx 3. 14)) +4 x 2 FF=0. 96743
R1.0 (2mx2m-(Imx Imx 3. 14)) +4 x 2&F7=0. 43ni
PEIA—/AL 4@ (57.95mx 8. 05m)+ (7Tm x 13m x 2EF7) =648. 4975
R2.5 ((5mx5m)-(2.5mx 2.5mx 3. 14)) +4 x 26 FF=2. 6874
R1.5 ((Bmx3m-(1.5mx1.5mx 3. 14)) +4 x 2 FF=0. 9674ni
R1.0 ((2mx2m-(Imx Imx 3. 14)) <4 x 4&F7=0. 86ni
5t 538.54mi+0. 9674mi+0. 43ri+648. 4975n72. 6874ni+0. 9674ni+0. 86ni=1192. 9497 i
2 BEIZE
(1) SRR t=50 TAI7NMEREERR 1193 m |FRI77IL L GHESR 1192.9497) m
(2) RO t=50 TAI7NMEREERR 118 m |BEEREHEENE (6. 75mx 4)+7. Tm+8. Tm+50. 5m+(12. 05m x 2) =118m 18] m
3) & TAI7hAER 60 m |REEEEEI193m x EH0. 05m=59. 65m 59.65] m
4) Eff FRAITMAGE 60 | m |REHWEEEI193m x EA0. 05m=59. 65m 59.65] m
3 EE®T
(1) RERFE At 15em  E#R 50 m | 3m+8m+0. 15m+13. 6m+3m+8m+0. 15m+13. 6m=49. 5m 49.51 m
2) RE#HHEE HIYERY = 15cm 22 m | 3m+7. 85m+3m+7. 85m=21. Tm 21,71 m
4 EXEEDLS TAI7 SR 140 t  |TA77hbERIATEDY. 65m x FREEFEE2. 35t/ m=140. 1775t 140.1775) t




